Space - time dents with Sir Isaac Newton

Newton's Rotational Equation Ends space- time 
Ending Einstein - Feynman Claims of Space - time
Explaining the gravitational constant G and the 1/5 Amplitude

With applications to Neutrino and Femto - Chemistry 

Newton's Rotational Equation explains the experimental confusion for
Space - time dents of relativity theory and quantum mechanics
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Abstract: Historically Space - Time dents is the gravitational field described by relativity theory of Albert Einstein or the gravitational constant G = 6.674 x 10-11 and the 1/5 ratio Amplitude described by Dr Richard Feynman. In simple words relativity and quantum mechanics of nature that Einstein - Feynman duo claim had outsmarted Newton and provided better. Sir Isaac Newton's reply to that: In your dreams!     
This Newton's equation

With d² (m r)/dt² - (m r) θ'² = -GmM/r²   Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                              Kepler's force law                             (2)

All there is in the Universe is objects of mass m moving in space (x, y, z) at a location 

r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 
P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = velocity = d r/d t; m' = mass change rate

F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t) (d r/d t) + (d²m/dt²) r
   = m γ + 2m'v +m" r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

We Have r = r r (1) ;v = r' r(1)  + r θ' θ(1) ; γ = (r" - rθ'²)r(1) + (2r'θ' + r θ")θ(1)
r = location; v = velocity; γ = acceleration

F = m γ + 2m'v +m" r
F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] + 2m'[r' r (1) + r θ' θ (1)] + (m" r) r (1)
  = [d² (m r)/dt² - (m r) θ'²] r (1) + (1/mr) [d (m²r²θ')/d t] θ (1) 

  = [-GmM/r²] r (1)   ------------------------------- Newton's Gravitational Law

Proof:

First r = r [cosine θ î + sine θ Ĵ] = r r (1)

Define r (1) = cosine θ î + sine θ Ĵ 

Define v = d r/d t = r' r (1) + r d[r (1)]/d t

              = r' r (1) + r θ'[- sine θ î + cosine θĴ]

              = r' r (1) + r θ' θ (1)
Define θ (1) = -sine θ î +cosine θ Ĵ;

And with r (1) = cosine θ î + sine θ Ĵ

Then d [θ (1)]/d t= θ' [- cosine θ î - sine θ Ĵ= - θ' r (1)  
And d [r (1)]/d t = θ' [-sine θ î + cosine θ Ĵ] = θ' θ (1) 

Define γ = d [r' r (1) + r θ' θ (1)] /d t

              = r" r (1) + r'd [r (1)]/d t + r' θ' r (1) + r θ" r (1) +r θ'd [θ (1)]/d t

            γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
With d² (m r)/dt² - (m r) θ'² = -GmM/r²   Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                              Central force law                              (2)

With m²r²θ' = constant 

Differentiate with respect to time

Then 2mm'r²θ' + 2m²rr'θ' + m²r²θ" = 0

Divide by m²r²θ' 

Then 2 (m'/m) + 2(r'/r) + θ"/θ' = 0

This equation will have a solution 2 (m'/m) = 2[λ (m) + ì ω (m)]

And 2(r'/r) = 2[λ (r) + ì ω (r)]

And θ"/θ' = -2{λ (m) + λ (r) + ỉ [ω (m) + ω (r)]}

Then (m'/m) = [λ (m) + ì ω (m)]

Or d m/m d t = [λ (m) + ì ω (m)]

And dm/m = [λ (m) + ì ω (m)] d t

Then m = m (0) e [λ (m) + ì ω (m)] t
         m = m (0) m (0, t); m (0, t) e [λ (m) + ì ω (m)] t 

With initial spatial condition that can be taken at t = 0 anywhere then m (0) = m (θ, 0)    

And m = m (θ, 0) m (0, t) = m (θ, 0) e [λ (m) + ì ω (m)] t
And m (0, t) = e [λ (m) + ì ω (m)] t
Similarly we can get  

Also, r = r (θ, 0) r (0, t) = r (θ, 0) e [λ (r) + ì ω (r)] t
With r (0, t) = e [λ (r) + ì ω (r)] t
With F = m γ + 2m'v +m" r; γ = v = 0

With m = m (0) ℮ [λ (m) + ỉ ω (m)] t; see above 

Then F = m γ + 2m'v +m" r = m" r

             = [λ (m) + ỉ ω (m)] ² m r; λ (m) = 0

Then F = - ω ² (m) m r = [- G m M/r³] r 
Or all rotational motion of Earth Explains gravity or space-time dent and if we put a test particle or light then,

We have: ω² = G m/r³ or, ω = √ [Gm/r³] 

And ω= (1/r) √ [Gm/r] = v (test)/r

And v (test) = √ [Gm/r]

With ω = 1/T = 1/ [T (0) + ΔΓ] 

And G = 1/p (0) T² = 1/p (0) T² (0) [1 + ΔΓ] ²

With Δ Γ = 2 sine ² arc tan (1/n); n = index of refraction of air = 1.00029

And ΔΓ = 0.292

And p (0) = 1.2077 kg/m³

G = 1/p (0) T² (0) [1 + ΔΓ] ² = 1/ 1.2077 x 23.9345² x 3600²[1 + 0.292]²

G = 6.674 x 10 -11

The gravitational constant is not a constant and it is only measured on earth

Gravity is a rotational trap and when measured through a test particle of light it does not mean everything is going to act the same  

Around objects there is no space time dent and this space time dent would not happen except around planets that are rotating and the failure of Gravity probe is a proof of it.

This dent is expressed as Newton's equation G mM/r²    
The 1/5 amplitude Feynman keep talking about is 

S = r ℮ [λ (r) + ỉ ω (r)] t = r ℮ [λ (r)] t ℮ ỉ ω (r) t

With λ (r) = 0 

Then S = r ℮ [ỉ ω (r)] t
Changing to time delays

S = c Γ; r = c t; ω (r) t = θ
Then the answer to Dr Feynman is equation Γ = t ℮ ỉ θ
Then S = r ℮ [ỉ ω (r)] t
Or, c Γ = c t ℮ [ỉ ω (r)] t

Or, Γ = t ℮ ỉ ω t = t ℮ ỉ θ
Or Γ = t ℮ ỉ θ
This equation is a time delay equation

Real time Physics: We can only measure past events. We can not measure something that did not happen. We can only measure things that had happened. What we measure is not what happened. We measure in present time an event that happened in past time.      
Present time = present time

Present time = past time + [present time - past time]

Present time = past time + real time delays

Real time physics = event time physics + real time relativistic delays 

What one sees is relativistic = what happened in an absolute event + relativistic effects

What happened in an event is absolute = real time physics - real time relativistic effects.

Observer time = observed traveller time + time delays 

Real time = absolute time + time delays 

Real time = Event time + time delays 
Real time Physics = event time Physics + time delays Physics

Γ= t  + [Γ - t] = t  + ΔΓ = Γ

Or; Γ = t (Γ/t) 
Γ= t e ỉ θ; Γ/ t = e ỉ θ; θ = arc tan (v/c); Γ= t e ỉ θ 
Γ (x) = t cosine θ = t [1 - 2 sine ² arc tan (v/c)]

Δ Γ = Γ (x) - t = - 2 t sine ² arc tan (v/c)

And Δ Γ = - 2 t sine ² arc tan (v/c)

Δ Γ = 2 sine ² arc tan (1/n); n = index of refraction of water = 4/3

Δ Γ = 2 sine ² arc tan (3/4) = 0.2 = 1/5
If you go to U Tube and watch Dr Feynman Lectures you will see how he mention space - time and that it is always around 1/5 amplitude ratio of particles measured as delayed when pointing a laser beam at a water solution or a water diluted solution

Index of refractions determines the ratios

There are two dozen Nobel Prize winners who used this trick and got Nobel prizes 

A- Reines for Neutrino assumed discovery

B - Dr Zewail Ultra - fast Dynamics of the chemical bonds

They both wrong: Here is the proof

A- Reines for Neutrino assumed discovery

Anti-neutrino + proton ---------> neutron + positron

Positron + electron --------------> Gamma + Gamma

Gamma caught by a sensor and amplified to a signal 1 --> signal 1 on Oscilloscope 1

Neutron + Cadmium --> [Cadmium eats neutron] --> coughs Gamma

Gamma caught by a sensor and amplified to a signal 2 --> signal 2 on Oscilloscope 2

Reines and Cowan who claimed that if they install a tank of water close to a nuclear reactor building and shield it from cosmic radiation then the Neutrino can be found from seeing two γ- gamma signals.

The first signal γ- gamma signal is an indication of an Antineutrino capture by a neutron and the second γ- gamma signal is an indication of a neutron capture by cadmium and excited cadmium spits another γ- gamma signal  

A Water Tank with 200 liters of water and 40 CdCl2 or a mixture of tri ethyl benzene

	* --------------------------------------------------------------------- * 

signal 1 captured            25 μ seconds  later signal 2 captures

Signal 1 and two differ by a small size captured on oscilloscope screens                                                        


Water has a refractive index of 4/3 and try ethyl benzene has a refractive index of 1.44

There was a time window of 25 micro seconds shots were taken and when a # 1 signal appeared in this 25 micro-seconds window the second window showed another signal appearing within 0- 5 microseconds

A signal moving inside a medium is expected to get delayed from 0-5 micro seconds in a 0-25 micro second window

The diffraction slows the motion inside a medium with refractive index n:  T = T (0) e- ỉ ω t        

T = T (0) e - ỉ ω t; ω t = arc tan (1/ n); n v = c; n = index of refraction; v = velocity of light in medium; c = light speed in vacuum

T = T (0) [cosine ω t + ỉ sine ω t] = T (0) [1 - 2sine² (ω t/2) + ỉ sine ω t] = T (x) + ỉ T (y)

T (x) = T (0) [1 - 2sine² (ω t/2)] = T (0) {1 - 2sine² {[(arc tan (1/n)]/2}}
Δ T = T (x) - T (0) = - 2 T (0) sine² {[arc tan (1 /n)]/2}

Δ T = - 2 T (0) sine² {[arc tan (1 /n)]/2}

T (x) = T (0) cosine arc tan [1 /n)]  

T (x) = T (0) cosine arc tan [3/4] = 0.8 T (0)

T (x) - T (0) = 0.2 T (0) 

Δ T = 0.2 T (0)  
The assumption that the free neutrino is detected at the Savannah River nuclear power plant experiment in 1953 and published in nature 1956 by Reines and Cowan and advertised by United Nations in 1958 is not only wrong but dead wrong. The claim of a second signal detection delayed 5 micro second after the pair annihilation indicating a neutron capture by Cadmium and proving the existence of the neutrino to support Wolfgang Pauli Neutrino theory and relativity theory is not justified. Here is why

Proof: The gate length is T (0) = 25 μ s (microseconds)

The Container that had Cadmium is basically Tri ethyl benzene mixed with water. The refractive index of water at 25°C is 1.333 ~ 4/3 and the refractive index of tri ethyl benzene is 1.44 with 5 to 1 ratio water to tri ethyl benzene which is a minor distraction to water refractive index.

Δ T = - 2 x 25 sine² {[arc tan (~ 3/4)/2]} = 5 μ s time delays

Δ T = 0.2 T (0) = 0.2 x 25 = 5 μ s time delays

The coincidence of Pair annihilation gammas and Neutron capture gammas is not justified

If all the mixture was Tri ethyl benzene because the literature says it is a mixture and it say it is tri ethyl benzene

Δ T = - 2 x 25 {[sine² arc tan (1/1.44)]/2} = 4.46575 μ s time delays

The delayed signal within the 5 μ s intervals is not a sign of Neutrino capture but a flash of light caught traveled and caught delayed. Meaning it is the same gamma and not two different gammas. What Reines and Cowan did is measuring the same signal in a 25 micro second interval at the start they measured the signal and in that 25 micro seconds interval the signal had 5 micro seconds signal time delay that was measured as a second event. Reines and Cowan claimed two signals the first event was the signal of pair annihilation and the second event is the neutron capture and releasing a second gamma ray when in fact looking at the same signal. This is the basis of all dark energy fraud.

  Dr Ahmed Zewail claims he can see the break-up of chemical bonds live?!

This trick was originally used By Reines and Cowans in the Neutrino experiment. Then it was called Micro time travel 

Then came the Nano time travel 

The came the Pico time Travel 

Now time travel is at Level femto  

Where it came from?

Real time Physics: We can only measure past events. We can not measure something that did not happen. We can only measure things that had happened. What we measure is not what happened. We measure in present time an event that happened in past time.      
Present time = present time

Present time = past time + [present time - past time]

Present time = past time + real time delays

Real time physics = event time physics + real time relativistic delays 

What one sees is relativistic = what happened in an absolute event + relativistic effects

What happened in an event is absolute = real time physics - real time relativistic effects.

Observer time = observed traveller time + time delays 

Real time = absolute time + time delays 

Real time = Event time + time delays 
Real time Physics = event time Physics + time delays Physics

It is called time delays

Real time location 

An object at of absolute location r when measured in real time a decay factor of ℮ [λ (r)] t and a motion factor of ℮ [ỉ ω (r)] t is introduced to a total factor of ℮ [λ (r) + ỉ ω (r)] t and the location of an object measured in real time is S = r ℮ [λ (r) + ỉ ω (r)] t
Real time location along the line of measurement 
And perpendicular to the line of measurement 

S = r ℮ [λ (r) + ỉ ω (r)] t = r ℮ [λ (r)] t ℮ ỉ ω (r) t

S x + ỉ S y = r ℮ [λ (r)] t [cosine ω t + ỉ sine ω t] 
Along the line of measurement

S x = r ℮ [λ (r)] t cosine ω t 

S x = r ℮ [λ (r)] t √ [1 - sine² ω t] 

Perpendicular to line of measurements

S y = r ℮ [λ (r)] t sine ω t 

Taking ω T = arc tan (v/c) 

Along the line of measurement

Perpendicular to line of measurements

And S y = r ℮ [λ (r)] t sine arc tan (v/c)  

S = r ℮ [λ (r) + ỉ ω (r)] t = r ℮ [λ (r)] t ℮ ỉ ω (r) t

With λ (r) = 0 

Then S = r ℮ [ỉ ω (r)] t
Changing to time delays

S = c Γ; r = c t; ω (r) t = θ
Then the Travel bullying equation is Γ = t ℮ ỉ θ
 Γ = t (Γ/t) 

Γ= t e ỉ θ; Γ/ t = e ỉ θ; θ = arc tan (v/c); Γ= t e ỉ θ 
Γ (x) = t cosine θ = t [1 - 2 sine ² arc tan (v/c)]

Δ Γ = Γ (x) - t = - 2 t sine ² arc tan (v/c)

And Δ Γ = - 2 t sine ² arc tan (v/c)

Or finding t

In his Nobel work Dr Zewail used Cyanogenic iodide with λ = 306 nanometer; 1 nanometer = 10 - 9 and watched it fluoresces at λ = 388.9; t = 200 femto seconds; 1 femto second = 10 - 15 second  

He shot a Laser beam to stir a solution that contained crystal of Cyanogenic iodide

Then every 10 femto seconds he shot again to see what happens and after the last shot he concluded the stir is dead and Cyanogenic iodide broke

ICN ----------------> CN + I 

The index of refraction of Cyanogenic iodide is n = 1.64 [US Army articles on the net]

With λ = c T: T (1) = 306 x 10 - 9/3 x 10 8 = 102 x 10 - 15

With λ = c T: T (2) = 388.9 x 10 - 9/3 x 10 8 = 129.633 x 10 - 15

Δ Γ = T (1) - T (2) = - 27.6333 x 10 - 15

And Δ Γ = - 2 t sine ² arc tan (v/c)

And Δ Γ = - 2 t sine ² arc tan (1/n)

And -2 sine ² arc tan (v/c) = - 0.1455

And t = Δ Γ / - 2 t sine ² arc tan (1/n) = - 27.6333 x 10 - 15/ - 0.1462 = 190 x 10 - 15

Or t = 190 x 10 - 15
The last shot is just a waste
Dr Zewail number is 200 +/- 30 femotseconds

Other Nobel Prize winner used the same visual trick at Micro scale

Then Nano technology came and used the same trick at nano scale 

And then Pico technology came and used it at pico scale

It is a Bazzar of science and Cal - Tech is fighting # 1 Harvard for tricks and no science    

I am not saying Dr Ahmed Zewail is wrong what I am saying is they all wrong 

Yes it is all visual effects and no science
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